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UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A  izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ&1

Unit–1

1. fuEukafdr iz'uksa ds mÙkj nhft,µ

¼v½ ldy dqy vk; o dqy vk; esa varj dhft,A

¼c½ vk;dj fo/kku ds izko/kkuksa ds varxZr ,d O;fDr ds fuoklh

gksus ds fy, dkSu&lh 'krsZa gSa\

¼l½ deZpkfj;ksa ds fy, 5 djeqDr vk;ksa dk o.kZu dhft,A

¼n½ Jh eksgu dkuiqj esa jgrs gSaA mUgsa 2,00,000 ` ewy osru]

2,00,000 ` eg¡xkbZ osru rFkk 1,50,000 ` edku fdjk;k

HkRrk okf"kZd feyrk gSA og izfro"kZ 1,80,000 ` fdjk;k nsrk

gSA dj&;ksX; edku fdjk, HkRrs dh jkf'k fuf'pr dhft,A

Answer the following questions :

(a) Differentiate between Gross Total Income and Total

Income.

(b) What are the conditions to become a resident of an

individual under the provisions of Income Tax Act ?

(c) Describe the 5 exempted income for the employees.

(d) Mr. Mohan resides in Kanpur. He gets a basic salary

of ` 2,00,000 and dearness pay ` 2,00,000 and house

rent allowance of ` 1,50,000 per annum. He pays a

rent of 1,80,000 per annum. Determine the amount of

H.R.A. chargeable to tax.

vFkok 

OR

Jh xqIrk tks QSDVjh esa feL=kh ds :i esa dkuiqj esa lsokjr gSa vkSj 

xzsP;qbVh vf/kfu;e] 1972 ds varxZr vkrs gSa] 31 fnlEcj]

2019 dks 34 o"kZ dh lEiw.kZ lsok ds ckn] vodk'k xzg.k djrs
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gSaA vodk'k xzg.k djrs le; fu;ksDrk us mUgsa 5,10,000 `

xszP;qbVh ds rFkk 2,40,000 ` izekf.kr izksfoMs.V Q.M dh

,df=kr jkf'k nhA og 7,500 ` ekfld isa'ku ikus ds Hkh

vf/kdkjh gSaA mUgksaus vk/kh isa'ku dh ,d eq'r jkf'k 1 ekpZ]

2020 dks izkIr dj yh tks 2,70,000 ̀  FkhA ;g ekurs gq, fd

osru rFkk isa'ku ekg ds vafre fnu ns; gksrh gS mudh

dj&fu/kkZj.k o"kZ 2020-21 ds fy, fuEu lwpuk ds vk/kkj ij

dj&;ksX; osru dh x.kuk dhft, % ewy osru 1,89,000 `

¼21,000 ` izfr ekg ls 9 ekg dk½] egaxkbZ HkRrk 45,000 `

¼5,000 ` izfrekg ls 9 ekg dk½] cksul HkÙkk 4,000 `]

ifj;kstuk HkRrk 3,000 ̀ ] edku fdjk;k HkRrk 4,2000 ̀  izfr 

ekg] 3,000 ̀  izfr ekg ds fglkc ls 12 ekg dk fdjk;k fn;k]

izekf.kr izkWfoMs.V Q.M esa fu;ksDrk rFkk deZpkjh izR;sd dk

va'knku 30,000 `A

Shri Gupta who is employed as Mistree in a factory in 

Kanpur and is covered under the Payment of Gratuity 

Act, 1972 retired on 31st December, 2019 after

complete 34 years service. At the time of retirement,

the employer paid him a gratuity of ` 5,10,000 and

the accumulated balance of recognised provident

fund ` 2,40,000. He is also entitled to a pension of     

` 7,500 p.m. He commuted his half pension and

received on 1st March, 2020 the cummuted value of

pension amounting to ` 2,70,000. On the basis of the

following information compute his taxable salary for

the Assessment Year 2020-21, assuming that salary

and pension are due on the last day of the month.

Basic pay ` 1,89,000 (` 21,000 p.m. for 9 months),

dearness, allowance ` 45,000 (` 5,000 pm. for 9

months), bonus ` 4,000, project allowance ` 3,000,

house rent allowance ̀  4,200 p.m., paid rent at ̀  3,000

p.m. for 12 months, employer’s and employee’s

contribution to recognized provident fund ` 30,000

each.

bdkbZ&2

Unit–2

2.¼v½ fe‚ vrqy f=kosnh ,d flfoy dkUVªsDVj gSaA xr o"kZ 2019-20

us mUgksaus fuEufyf[kr Bsdksa ij dk;Z fd;kµ

(i) Ldwy Hkou ¼Bsdk ewY; 16 yk[k `½ dk;Z iw.kZ

9,40,000 `A

(ii) xk¡o dh lM+d ¼Bsdk ewY; 5 yk[k `½ lEiw.kZ dk;Z iw.kZA

(iii) vLirky Hkou ¼Bsdk ewY; 20 yk[k `½ dk;Z iw.kZ

4,00,000 `A

(iv) iqy fuekZ.k ¼Bsdk ewY; 60 yk[k `½ dk;Z iw.kZ

20,00,000 `A
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fuekZ.k dk;Z ds fy, iz;qDr Iyk.V dh ykxr 15 yk[k ` FkhA

mUgksaus dk;Z'khy iw¡th ds fy, cSad ls 18% okf"kZd C;kt nj ij

12 yk[k ` _.k fy;kA fuekZ.k dk;Z ds O;;ksa dk mUgksaus

fu;fer fglkc ugha j[kk gSA vk;dj vf/kfu;e] 1961 dh

/kkjk 44AD ds varxZr fe‚ f=kosnh dh Bsdk dk;Z ls dj&;ksX;

vk; dk fu/kkZj.k dhft,A

Mr. Atul Trivedi is a civil contractor. During the

previous year 2019-20 he worked on following

contracts :

(i) School Building (contract price ` 16 lacs) work

completed ` 9,40,000.

(ii) Rural Road making (contract price ` 5 lacs),

whole work finished.

(iii) Hospital Building (contract price ` 20 lacs),

work completed ` 4,00,000.

(iv) Bridge construction (contract price ` 60 lacs),

work completed ` 20,00,000.

A plant has been used for construction costing (` 15

lacs) he borrowed ` 12,00,000 @ 18% per annum

from bank for working capital. He did not maintain

regular accounts regarding contracts expenses.

Determine Mr. Trivedi’s taxable income from

construction work u/s 44AD of Income Tax Act,

1961.

¼c½ ^iw¡th lEifÙk ds gLrkarj.k* ls vki D;k le>rs gSa\ dkSu&ls

O;ogkj gLrkarj.k ugha ekus tkrs gSa\

What do you understand by ‘Transfer of Capital

Asset’? State which transactions are not regarded as

transfer ?

vFkok
OR

¼v½ 31 ekpZ] 2020 dks lekIr gksus okys o"kZ esa feLVj tSu ds

fuEufyf[kr Fksµ

Mr. Jain’s investment during the year ended on 31st

March, 2020 consisted of the following :

`   

(i) 7% ljdkjh izfrHkwfr;k¡ 50,000

(7% Gov ern ment Se cu ri ties)

(ii) 8% vkxjk E;wfufliy ckW.M 30,000

(8% Agra Municipal Bonds)

(iii) 9% eqEcbZ iksVZ VªLV ckW.M 40,000

(9% Mumbai Port Trust Bonds)

(iv) 7 o"khZ; Mkd[kkus ds jk"Vªh; cpr izek.k&i=k 20,000

(7 years post office National Saving 

Certificate)

(v) 8% fons'kh ljdkj dh izfrHkwfr;k¡ 25,000

(8% Securities of a Foreign Government)
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(vi) 7% iw¡th fofu;ksx ckW.M 20,000

(7% Capital Investment Bonds)

(vii)12% djeqDr _.k i=k eksnh jcM+ fy‚ ds

¼eqEcbZ LVkWd ,Dlpsat esa lapf;r½ 25,000

[12% Tax free Debentures of Modi Rubber Ltd.

(listed in Mumbai Stock Exchange)]

mlus C;kt dks laxzfgr djus ds fy, 120 ` deh'ku dk

Hkqxrku fd;kA eqEcbZ iksVZ VªLV ck.M dks Ø; djus ds fy, fy, 

x, _.k ij mlus 1,000 ` C;kt ds pqdk,A

^vU; lk/kuksa ls vk;* 'kh"kZdksa esa mldh dj&fu/kkZj.k o"kZ

2020-21 dh dj ;ksX; vk; Kkr dhft,A

He paid ` 120 as commission for collecting the

interest. He paid ` 1,000 as interest on loan which he

had taken for the purpose of purchasing the Mumbai

Port Trust Bonds.

Compute his taxable income under the head ‘Income

from other Sources’ for the assessment year 2020-21.

¼c½ dj&fu/kkZj.k o"kZ 2020-21 ds fy, fuEukafdr fooj.kksa ls Jh

eksgu dh dj&;ksX; vk; rFkk ldy dj&nkf;Ro dh x.kuk

dhft,µ

`   

(i) ldy osru 6,12,500

(ii) edku lEifÙk ls fdjk;k 60,000

(iii) cSad tek ij C;kt 12,000

(iv) ?kqM+nkSM+ ls vk; 20,000

(v) Ñf"k vk; 20,000

(vi) nh?kZdkyhu iw¡th gkfu 25,000

(vii) vYidkyhu iw¡th ykHk 40,000

(viii) fdlku fodkl&i=k ij C;kt 5,000

(ix) Jh eksgu us Ñf"k vk; ls thou chek 10,000

izhfe;e dk Hkqxrku fd;k

Compute taxable income and the gross tax liability of 

Shri Mohan for the Assessment Year 2020-21 from

the following particulars :

`    

(i) Gross Salary 6,12,500

(ii) Rent from house property 60,000

(iii) Interest on bank deposits 12,000

(iv) Income from horse-race 20,000

(v) Agricultural Income 20,000

(vi) Long term capital loss 25,000

(vii) Short term capital gain 40,000

(viii) Interest on Kisan Vikas Patra 5,000
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(ix) Life Insurance premium paid by Shri 10,000

Mohan out of his agricultural income

bdkbZ&3

Unit–3

3.¼v½ dj fu/kkZj.k o"kZ 2020-21 ds fy, dq0 ik:y us viuh vk;

rFkk gkfu dk fuEu fooj.k izLrqr fd;kµ

`    

(1) edku lEifÙk ls vk; ¼x.kuk dh xbZ½ 15,000

(2) O;fDrxr O;kikj ds ykHk 35,000

(3) O;fDr;ksa ds la?k ls ykHk dk Hkkx (A.O.P.

ij vf/kdre lhekUr nj ls yx pqdk gS½ 10,000

(4) vYidkyhu iw¡th ykHk 28,000

(5) nh?kZdkyhu iw¡th ykHk 24,000

(6) nh?kZdkyhu iw¡th gkfu 31,000

dj&fu/kkZj.k o"kZ 2019-20 ls fuEu en vkxs yk, x, gSaµ

(1) O;kikfjd gkfu 40,000

(2) edku lEifÙk ls gkfu 17,000

mldh ldy dqy vk; dh x.kuk dhft,A

Ku. Parul submits following particulars of her

income and loss for the A.Y. 2020-21 :

`    

(1) Income from house property (computed) 15,000

(2) Profit and Gain of Personal business 35,000

(3) Share of profit from an A.O.P. (Tax

already paid by A.O.P. at maximum

marginal rate) 10,000

(4) Short term capital gain 28,000

(5) Long term capital gain 24,000

(6) Long term capital loss 31,000

The following items have been brought forward from 

A.Y. 2020-21 :

(1) Business loss 40,000

(2) Loss from House Property 17,000

Compute her gross total income.

¼c½ ^^tSls dekvks oSls pqdkvks** ;kstuk ls vki D;k le>rs gSa\ bl 

laca/k esa vk;dj vf/kfu;e ds egÙoiw.kZ izko/kkuksa dh Li"V

O;k[;k dhft,A

What do you understand by “Pay as You Earn”

scheme ? Explain clearly the important provisions of

the Income-Tax Act in this connection.

vFkok 
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OR

¼v½ mPpre U;k;ky; esas mPp U;k;ky; ds vkns'k ds fo#) vihy

ij fVIi.kh fyf[k,A

Write a short note on appeal to a Supreme Court

against the judgement of the High Court.

¼c½ izR;{k djksa ds dsUnzh; cksMZ ds vf/kdkjksa dk o.kZu dhft,A

Describe the powers of Central Board of Direct

Taxes.

bdkbZ&4

Unit–4

4.¼v½ ,d fgUnw vfoHkkftr ifjokj ds dÙkkZ Jh lw;Z eksgu gSaA Jh lw;Z

eksgu ds nks HkkbZ fo".kq eksgu vkSj pUnzeksgu ifjokj ds vU;

lnL; gSaA dj fu/kkZj.k o"kZ 2020-21 ds fy, ifjokj rFkk

mlds lnL;ksa dh vk; dk fooj.k fuEukafdr gSµ

(1) ifjokj ds O;kikj ls ykHk 3,60,000 `A ;g vk; fo".kq

eksgu dks] tks foØsrk ds :i esa dke djrk gS] 18,000 ̀

izfrekg osru nsus ds ckn Kkr dh xbZA

(2) ifjokj ds /ku esa ls ,d QeZ esa 75,000 ̀  pUnz eksgu ds

uke ij fofu;ksftr fd, x, rFkk foÙkh; o"kZ 2019-20

ds fy, pUnzeksgu ds fgLls dk ykHk 1,50,000 ` gSA

(3) fo".kq eksgu dks viuh futh lEifÙk dk 60,000 `

fdjk;k o"kZ esa izkIr gksrk gS] tcfd pUnzeksgu dh dksbZ

vU; vk; ugha gSA

dj&fu/kkZj.k o"kZ 2021 ds fy, ifjokj dh dqy vk; dh x.kuk

dhft,A mlds }kjk ns; dj Hkh Kkr dhft,A

The Karta of a Hindu undivided family is Surya

Mohan. The two brothers Vishnu Mohan and

Chandra Mohan are the other members of the family.

The particulars of income of the family and its

members for the assessment year 2020-21 are as

under :

(1) Profit from business of the family ` 3,60,000

after deduction of ` 18,000 per month paid to

Vishnu Mohan as salary for working as

salesman.

(2) ` 75,000 have been invested in a firm out of

family funds in the name of Chandra Mohan and

Chandra Mohan’s share in the firms profit for the 

financial year 2019-20 is ` 1,50,000.

(3) Vishnu Mohan received ` 60,000 as rent during

the year from his own property while Chandra

Mohan has no other income.

Compute the total income of the family for the

assessment year 2020-21. Also find out the tax

payable by the family.
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¼c½ eSllZ flag ,oa tSu] pkVZMZ ,dkm.Vs.V~l dh ,d QeZ gS ftlesa

flag] tSu rFkk ukjk;.k lfØ; lk>snkj gSa vkSj os 2 : 1 : 1 ds

vuqikr esa ykHk&gkfu ckaVrs gSaA 31 ekpZ] 2020 dks lekIr gksus

okys o"kZ ds fy, QeZ dk vkf/kD; 60,000 ` FkkA QeZ ds

vk;&O;; [kkrs esa fuEu enksa dks MsfcV fd;k x;k FkkA

M/s Singh and Jain is firm of Chartered Accountants

in which Singh, Jain and Narayan are working

partners, sharing profits and losses in the ratio of 2 : 1

: 1. The firm showed a net surplus of ` 60,000 for the

year ended 31st March, 2020. Following items are

found debited in the Income and Expenditure

Account of the firm :

(1) tSu dk osru ` 7,000

(Salary of Jain)

ukjk;.k dk osru ` 9,800

(Salary of Narayan)

(2) flag dks deh'ku ` 6,000

(Commission to Singh)

ukjk;.k dks deh'ku ` 4,800

(Commission of Narayan)

 (3) iwath ij 20% dh nj ls C;kt

(Interest on capital @ 20%)

flag (Singh) ` 6,000

tSu (Jain) ` 4,000

(4) dLVe dk vFkZn.M pqdk;k ` 3,000

(Customs penalty paid)

(5) tSu dks 3,600 ` fdjk;k fn;k tks ml Hkou dk fdjk;k

Fkk tks tSu us QeZ dks fdjk, ij fn;k gSA

(Rent of ` 3,600 paid to Jain in re spect of the

house rent out by him to the firm)

dj fu/kkZj.k o"kZ 2020-21 ds fy, QeZ dh dqy vk; dh x.kuk 

dhft,A

Compute the total income of the firm for the

assessment year 2020-21.

vFkok

OR

¼v½ Mer cury Man u fac tur ing Co. (P) Ltd. us dj&fu/kkZj.k o"kZ 

2020-21 ds fy, fuEu lwpuk,¡ miyC/k djkb±A bldh dqy

vk; dh x.kuk dhft,µ `    

(1) edku lEifÙk ls vk; ¼'kq)½ 40,000 

(2) O;olk; ls vk; ¼e'khujh fuekZ.k½ 3,00,000 

(3) vYidkyhu iw¡th ykHk 1,05,000 

  4,45,000  

[ 13 ] ED-2068 ED-2068 [ 14 ]



?kVk;sµ `   

¼v½ dj&fu/kkZj.k o"kZ 2019-20 ls vkxs ykbZ xbZ

edku&lEifÙk ls gkfu 10,000

¼c½ /kkjk 80G esa psd }kjk nku 1,06,000

¼l½ vkxs ykbZ xbZ O;kolkf;d gkfuµ

(i) dj fu/kkZj.k o"kZ 2017-18 ls lacaf/kr 60,000

(ii) dj fu/kkZj.k o"kZ 2018-19 ls

    lacaf/kr                    3,40,000 (–) 5,16,000

                                          gkfu (–)      71,000

Mercury Manufacturing Co. (P) Ltd. has submitted

the following particulars regarding its income for the

assessment year 2020-21. Compute its total income :

`   

(1) Income from house property (Net) 40,000

(2) Income from machinery manufacturing

        business 3,00,000

(3) Short term capital gain 1,05,000

4,45,000

Less : ` 

(a) B/F Loss under income from house

property from the assessment year 

2019-20 10,000

(b) Donation u/s 80G by cheque 1,06,000

(c) Business Loss B/F inclusive of

the following losses :

(i) Relating to the A.Y. 2017-28              60,000

      (ii) Relating to the A.Y. 2018-19   3,40,000

(–)  5,16,000

Loss  (–)       71,000

¼c½ 31 ekpZ] 2020 dks lekIr gksus okys o"kZ ds fy, ,d lgdkjh
lfefr dh vk; fuEu izdkj ls gSµ `   

(i)  edku&lEifÙk ls vk; ¼vkxf.kr½ 4,000

(ii) eRL; ikyu rFkk lacaf/kr dk;Zdykiksa ls vk; 7,000

(iii) lnL;ksa dh Ñf"k mit ds izlaLdj.k ls vk;

¼'kfDr dh lgk;rk ds fcuk½ 2,000

(iv) ljdkjh izfrHkwfr;ksa ij C;kt ls vk; 3,000

(v) O;kikj ls vk; 58,000

xr o"kZ esa lgdkjh lfefr us jkT; ljdkj dks ifjokj fu;kstu
dk;ZØeksa ds fy, 2,000 ` dk nku psd }kjk fn;kA dj
fu/kkZj.k o"kZ 2020-21 ds fy, lfefr dh dqy vk; ,oa ns;dj
dh x.kuk dhft,A

The income of a Co-operative Society for the previous

year ending on 31st March, 2020 is as under : `  

(i) Income from the house property 4,000

(computed)
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(ii) Income from fishing and allied 7,000

activities

(iii) Income from processing the 2,000

agricultural produce of its members 

(without the aid of power)

(iv) Income from interest on Govt. securities 3,000

(v) Income from business 58,000

The society has given a donation of ` 2,000 by

cheque to the State Government for family planning

programme in the previous year.

Compute the total income of the society and calculate 

the tax payable by it for the Assessment Year

2020-21.

bdkbZ&5

Unit–5

5. ^^dj&nkf;Ro ds nf̀"Vdks.k ls lnSo ;g vPNk gS fd ,d dEiuh

dh vis{kk lk>snkjh QeZ cukbZ tk,A** D;k vki bl dFku ls

lger gSa\ ;fn ugha ] rks ,d ,slh ifjfLFkfr crkb, ftlesa

dj&nkf;Ro ds nf̀"Vdks.k ls QeZ dh vis{kk dEiuh cukuk

ykHknk;d gksxkA

“From tax point of view it is always better to form a

partnership firm and not a company.” Do you agree

with the statement ? If not, enumerate a case where

formation of a company is economical from tax of

view as compared to a partnership firm.

vFkok

OR

dj&nkf;Ro dks /;ku esa j[krs gq, vki fuEu esa ls fdls

izkFkfedrk nsaxs vkSj D;ksa\

(i) ykHkka'k dk Hkqxrku ;k cksul va'k tkjh djuk]

(ii) va'k tkjh djuk ;k _.ki=k tkjh djukA

From the point of view of tax considerations which

one of the following would you prefer and why :

(i) Payment of divident and issue of bonus shares.

(ii) Issue of shares or issue of debentures.
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